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USING ADDITION Use linear combinations to solve the system of linear
equations.

2_r+_\'=‘ 9.a—b=8 10.y — 2x =10 @m+3n=2
x=y=2 a+b=20 6y +2x=10 ~m+2n=3

USING MULTIPLICATION FIRST Use linear combinations to solve the
system of linear equations.

@®—y=0 7.v—w=-5 @8 x + 3y =3
—3x—y=2 v+ 2w=4 x+6y=3

SOLVING LINEAR SYSTEMS In Exercises 31-42, use linear combinations to
solve the system of linear equations.

GDx+2y=5 32.3p—-2=—¢q 33.3g — 24 = —4h
Sx=y=3 -g+2p=3 -2+ 2h=¢g

M.1+r=1 3B.x+1-3y=0 36.3a +9h=8b—a
2r—t=2 20 =7 — 3y Sa—10b=4a—9b + 5

37.2m—4=4n Jy=—5x+15 39.3j + 5k =19

m—2=n -y=-3x+9 4j — 8k = -4




